< RIE - KERISERZIRERNIR

L=fL 8

[BE(ORB- OEEAH) | — [ONo.| N . o s BERs: ”
m RSO~ O EB DS RS WERTITI. ,
ST - FE RO ~0EFER SMSBEHITIT -] [ B
[ Z] MR REAE SaERESN
FCLSN $45C 13 ~ -
FOLSNR SUS301 - 20.6MPa~2210kgf/cm?})L T&
FCLAN oE — 1MPa~=10kgf/cm? L T~
gs/
Oo-01, fe]1-[1 L A
2—d E__E 12—=d |_E P P P P P E N2
N N
‘\F‘i , ‘\P"k Van n . N ') yar W I S N
q >I 177\ oI \\% A% A% @\J A\ A\ L
. Pi_| |
2—koz, /=P . P,
ST ey 3—kiBFL
kinAREL KTALR L P
=Z-0 | -0 ] R
4—d E P E 10—d |_E P P P P E A2
=
Dar) N D Yan Yar S yar W i LS
o] \W A 4 jﬁ O Ao Ao A\ A\ Lo
> >-‘
2—komr, /| P ' ompemn /| al ‘
ki PLR R ki LR EL
s1-01 . EA L A
6—d | E P P E 8—d |_E P P P E A2
N\ N\ }
O —0—0g SO—O—0——0Og -
= 1= ¥
ooz, /| Py I omn, /| Py |
ki LR EL kLR EL
RS d
0 RB OEGTH ©No. Re (PT) A B L P P1 P2 E F Y k1 k2 2
11 1/8 — B
1 > 7 30 30 40 25 15
1 1/8
2 22 1/4 & & 75 35 60 - B
33N 3/8 40 40 20
11 18
3 22 1/4 = & 110 35 95 - B
FCLSN 33N 3/8 40 40 20
(BEA) 1 1/8 20 7 11 6.6 6.5
4 22 1/4 & & 145 35 130 - B
FCLSNR 33N 3/8 40 40 20
(KER) 11 18
5 22 1/4 & & 180 35 165 - B
33N 3/8 40 40 20
1 1/8
6 22 114 & O | a5 | 3 | 200 | 1075 i
33N 3/8 40 40 20
BS d
0 Kl OEEIR ONo. | e (pT) A B L P P1 P2 E F Y k1 k2 2
11 1/8 25 25 B — 125
1 2o i = = 40 25 20 e 7 95 55 55
11 1/8 25 25 _ 125
2 2o i = & 65 25 50 20 e 7 95 55 55
11 1/8 25 25 _ 125
FCLAN 3 2o i = = 20 25 75 20 = 7 95 55 55
(SEM) 11 1/8 25 25 _ 12.5
4 2o 7 = = 115 25 100 20 £ 7 95 55 55
1 1/8 25 25 _ 125
5 2o i = = 140 25 125 20 e 7 95 55 55
11 18 25 25 125
6 2o i = = 165 25 150 825 20 o 7 95 55 55

2E%% 400-966-3863

s B http://www.srdfaa.com
DO LY E: &) mmtms e A =wA 0755-27926613




	Bookmarks
	页 21

	Bookmarks
	页 25

	Bookmarks
	页 6

	Bookmarks
	页 11

	Bookmarks
	页 14

	Bookmarks
	页 17

	Bookmarks
	页 18

	Bookmarks
	页 2


